Misc. questions of

Profit and loss
(Variation type included)

Concept Lecture -6
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A shopkeeper sells a pair of sunglasses at a
profit of 25%. If he had bought it at 25%
less and sold it for Rs.10 less then he would
have gained 40%. The cost price of the pair
of sunglasses is:

T gHEIER 25% F A W TH T HI
TYAT d°dl 2 mmsﬁ%% &
W @ler a1 3T s/ 10 T9X FH A
99T AT A1 3§ 40% T WIFET FIT ATl
49 F A A A T o

a) Rs.25 \_V{Rs 50

¢)Rs. 60 d) Rs.75
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A man sells an article at 5% profit. If he had
bought it at 5% less and sold it for Re.1
less, he would have gained 10%. The cost
price of the article is?

U AFd o Th I 5% oIS 9T a7
&l PR 3 3/ 5% HH H ST gdr
I 1 T A F dam glar aF 37 10%

|04.5°L = 105%- 1 st gar| aFq T F.9[0d. Tamsi?

05’/'

Rs.200 b) Rs.150
c) Rs.250 d) Rs.240
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A businessman sells a commodity at 10%
profit. If he had bought it at 10% less and
sold it for Rs.2 less, then he would have

gained 16%%. The cost price of the

commodity is

U SAYRI Th a&d P 10% o T
m%laﬁamaﬂ10%wn—a
W @lear 3T 2 9 &7 & duar, o

¥ 16-% F @ gl @ awG w

AR Jed AT F
a) 32 b) 36 \/40 d) 48




43 A book seller sells a book at a profit of

28 N 162%. If he had bought it at 12.5% less
168 |19 6u 3
| and sold it for Rs.240 more he would have
J"'g , Wu)—a—?‘dofgained 423./84%, the cost price of book its.
.l-
\u7y Tg—s 2l0u UF qEaE Akl TF fha@ # 162 %

AT 9T 99T § I 98 39 fhaw &
12 12.5% HA Hed T Tlledr ddT 240 3.
AU 0 w4653~ 30w #F aTar ar 3§ 42.84% T AN

— = a1 frae #1 7 qoT A AT
a) Rs.2540 W Rs.2880
¢) Rs.2620 d) Rs.2780
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A man sold 20 apples for Rs.100 and gained

A 20%. How many apples did he buy for Rs.100?
10pp) T wafeq 100 FoX F 20 WE I

20% AT HATT g1 af 38« 100 9T A

frae A @y ¥
a) 20 )22 24 d) 25
oo x3_ %N =loo 7
KO0 6
Y
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A man sold 25 apples for Rs.100 and gained
20%. How many apples did he buy for Rs.120?
TH gfFd 100 39T H 25 AT aGHT 20%
AT FATAT &1 ar 38 120 9 H fFas
AT @lig &N

a) 20 ¢) 24 d) 25

6
v%_xﬂ=+%0r

N=3¢6




@ By selling 12 oranges for Rs.60,
a man)loses 25%. The number

of oranges he has to sell for
Rs.100, so as to gain 25% is ‘ZS’[
60 TIX F 12

U qidd H 25% Y mﬁr
g1t 81100 39 # 3@ frae
AR d=9a =ifer g owd
25% W1 I

a) 10 b) 11

w12 d) 15
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By selling 18 oranges for Rs.80,
a man loses 28%. The number

of oranges he has to sell for

Rs.150, so as to lose 10% is 07
80 m ¥ 18 TaY FUT W

W—qﬁ?raﬁzs%a?raﬁr
gt &1 150 I H 3@
fFfds Ty S9a =IfRe oy

RAF 10% gifar 8l
a)25  \ bf27
c) 18 d) 15




A man bought 30 apples for Rs.100 and
gained 20% by selling them. How many
apples did he sold for Rs.100?

TH gFd 100 T9F A 20 A9 IR
20% WM FATA gl aF 38 100 T
# fraar a9 I &

a) 36 b) 20 c) 24 \y{zs




Oranges are bought at 7 for Rs.3. At what rate
must they be sold to gain 33%?

3 3qF & 7 G A T ¥ TR/ /@e I
33% 7 ®A F fav iy [Awsr 3%
o g & ST« g3?

a) Rs.56 b) Rs.60

c) Rs.58 @Rs.57




A trader buys jowar at Rs 30 per kg. 20% of
the grain gets wasted. He plans to sell the
remaining grain so that he makes
4.0% overall profit. At what price (in per

kg) should he sell the grain? l-__l—

& SR 30 ¥ 9fd frelamy #rax @
AR @AGaT § | 39 AT F 20% FF
g ST §] 9§ AV AT W W e @
dgd H WA FAAT § AME TE 40%
AT ATH FAT TF | 39 F9 fFHd ®
(& ufar fratan#) 3arar Y dger a@rfRe?

a) 48 b) 50 \\nyZ. 5 ¢)47.5

SSC CGL 2017 T-2 12



An oil refinery buys oil at Rs3600 per barrel.

@Zhere is[10% wastage) If the refinery wants to
(O

6 arn 5% profit then at what price should it

36 XJE )(,Z_ ‘*Lg"' sell including 8% tax on selling price?
fpﬁ}e— wmﬁﬁw}frseoomqﬁrﬂwax
e @ 3fsd @led & sUH @ 10%

gd g Smar § afy Rivadr 50 «mar
gIcd AT dgdl ¢ of 39 s R
Aed W agen =@ifewr fawd 8% X st

A &
a) 3674 b) 3711
c) 4219 (d) 4536

| SSC CGL 2017 T-2 | 13



A shopkeeper buys a product of Rs. 150 per
Kg. 15% of product was damaged, At what
price (per K g) should he sell the remaining
so as to earn a profit of 20%?

U gFEGR 150 ¥ 9fa fral amer &
W TEF gEg Glear ¢ @A @
15% T&q_ASC & IS | 20% T HIed
A F AU 3/ AV arqg Fw fwa
(9fa Far ) ¥ ST 9w ?

13 13
a) Rs.209g b) Rs. 207?73
¢ Rs.210 = (d)Rs. 2113

| SSC CGL 2016 T-2 | 14



A shopkeeper purchased 510 eggs at

(480 the rate of[ﬁ; 20 per dozerg 30 eggs

5{0 were broken on the way. In order to

5/ make a gain of 20%, he must sell the
:2— remaining eggs at the rate of

gFEGR & 20 ¥ i gofet

X & 510 33 @S | 30 33 A

AT AT | 37 AY 38 P X W

doet TIRT BF 39 20% o @ 2
Rs. 22.50 per dozen

@Rs. 25.50 per dozen

c) Rs. 26 per dozen

d) Rs. 26.50 per dozen

G

T 9
St L
_1+ge/5’
46
2

| SSC CGL 2016 T-2 | 15
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A diamond merchant bought 16 diamonds of
same price each. He lost one diamond and
sold the remaining at 20% more than the
cost price. What is his overall profit
percentage?

TH R & AR o 16 R AHET 1T &
e wF & @ T 3k 3Ee 9
BRI & d6TT AT § 20% HOF & a9
| ar 3aer aTaT% H qad?

a) 10% (b))12.5%

c) 15% d) 16.66% e) 20%
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A sold an item to B at 20% gain, B sold
it to C at 8% gain. C sold it to D at
25% loss. If the difference between
the profits of A and B is 260, then D
bought it for:

A FE T& B F 20% A W
S9dr, § B 39 C & 8% @@ W
d°dr 8] C 38 D F 25% FA W
Sudr % aﬁ 3ﬁT F A &
dT &1 3HaT T 260 % ar D 39

fpaar & Em?\_clT ?
a) Rs.2200 Rs.2430
c) Rs.2260 d) Rs. 2480

| SSC CGL 2019 T- 2 | 17
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Oil equal to 20% of the weight of ground nut is
extracted in a mill. The matter left after extraction
is sold as cattle feed at the rate of Rs 12. 5/kg. the
groundnuts are bought at Rs 20/kg. The processing
cost is Rs 5/kg. At what price (Rs per kg) should the
oil be sold to earn, 20% profit,on total cost (Total
cost=cost of groundnuts and processing costs)?

Pt e F #AIwe & 9 F 20% F WE Ad
e Srar § | sedor & gatg S gere d=dr §
39 mafAst & oo & faw 12.5 9fa Feay a7 &
feae @ S= Smar B Ferwe 20 ¥ ufy fream F
o @ @O = i | AR Hir fea 57 gfd
frdlamer 8 | a« &t Fw dqea (¥ / fFeam) & @
ST arfe mmwzo%mﬁﬁumma

mmﬁa?ra?lﬂ?ramqﬁﬁwa?r
a)250  b)150  ¢) 200

| SSC CGL 2017 T- 2 | 18




If the cost of pins reduced by Rs.4 per dozen,

yg yg 1012 more pinsJcan be purchased f0|1 The
—_— = cost of pins per dozen after reduction is:
x Xt afy AT & Heat & 4 TS B FN
e e ot e
48 C | I g
ic’“;) /’9{ R FT aRrT #AeT AT H:L:
2 Y t=§ XRS 8 Rs.12
3 @ c)Rs.16 d) Rs.20
ugs 8t = Pyia % QM‘L&
—=2F/d - _




On selling a pen at 5% loss and a book at
15% gain, Karim gains Rs. 7. If he sells the
—hY P +1S7/ B =7 &  pen at 5% gain and the book at 10% gain,
he gains Rs. 13. What is the cost price of the

Gy P +lor B = I3 Z  bookin Rupees?
5% $1 g W TH FadA sga W 3K

~ 15% T 9T TH GEdh, HAA F 7 3
5% B= 0 gy wmer waar ¥ IR 9@ 5% A7 W
2 Foad d9aT § AR 10% A W IFF,
=852 ag 13% F amr FAEl ¥ TEw A
dRTd {ed 4T § (T #H)?
G)so b) 85
c) 95 d) 100

| CAT 2019 | 20
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A man sold a radio and a TV set together for

T+1107 115/ ’I:ZZabsp %30,400,/ thereby making a profit of 25% on

257 R +]Io/ T = 20uqp
fvsy.  Jaisy.  [-300
1107 R + 1257 T= 230,760

the radio and 10% on the TV set. By selling
them together for X30,700, he would have
made a 10% profit on the radio and 25% on
the TV set. The cost price of this:

S gfdd, T Ty WA IR TV Ve
230,400 H AT §, FAEART WA W
25% 3TV AT U 10% T ATH Iod g
8] 3¢ TS Y 30,700 H IIRL, G
A W 10% 3R TV AT W 25% T o197
FATAT §| WA F1 FI_AeT AT F

a) 10, 000 (b)&12,000

c) 8,000 d) 9,000

|SSC MTS, 12 Oct 2021, Sﬁ 1



8L T + 157 F

)52 T + 87 F

1§ -7.T

7(3-T)=375"

30040

125 ¢

-350

= 350

580
12582

A man sold an LED TV at 8% profit and a
fridge at 15% profit. If he sold the LED TV at
15% profit and the fridge at 8% profit, he
gain Rs.350 less. Find the CP of LED TV and
fridge, if he purchase both at Rs30,000?

T HSH! o TH Tassy ddl 8% oI dUT Udh
T 15% a9 9T S9dr § I a8 vass adt
15% o1 9T 3T fhsr 8% oM W 3T ar 3&
350 §. &H A sy A 3R st &1 FT
Hed #Ad A IR g S H 30000 H
glear &

a) Rs.12000 and Rs.18000

@Rs.lzsoo and Rs.17500

¢) Rs.14000 and Rs.16000
d) Rs.10500 and Rs.19500

| GP | 22
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| purchased 120 exercise books at the rate of
Rs.3 each and sold % of them at the rate of

1 —— 42
Reach, 5 of them at the rate oach

and the rest at the cost price. My profit per
cent was

A 120 I qRAHBIT A
m/trmaﬁa?#@ﬂarsﬁtm
‘Imﬁ'aﬂél TARAFT HT T
aaT mmﬁsmmmaﬁr
#amaﬁta‘rcrafﬂmqmaﬁaﬁ

armr-rn—zrwairﬁmla’rmrma
yferd AT Y

a) 44% 4%%

0)442% d) 45%

| | 23
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Fresh grapes contains 80% water and dried
grapes contains 25% water. A grape
merchant buys fresh grapes at Rs.30 per KG,
dry them and sell it Rs.150 per kg. what is
his profit percentage?

arst 3R A urer it AT 80% ¥ 3R
wm#zswwmso 03
fel # arer BaTE F 3ed q@dT §
3R 150% frelt & d=ar & S@HT e
gfaerd aard?

()33.33% b)25%  ¢)20%

d) 50% e) 400%
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Ramesh bought 102%%:5 for Rs.500 each,
He spentﬂgﬂ%(}ig e repair of all the
cycles. He sold'five of them for Rs.750 each
and the remaining for Rs.550 each. Then
the total gain or loss% is

@Y A 10 ABFHA 500 ITF TAF I

394 ¥ U™ ;nsmﬁa?rﬁom

a) Gain ofS%% b) Loss ofB%%
¢) Gain of7§% @Loss of7;%

| | 25
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